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clolit ) do i) J302 plall adi 8 glall A A i cull) A0 puda g
= elall g ()lg Jaks J88a zla i) Jla eladl o)) <als 13) 2¢m,4cm,8cm

: 2358 0,073N/m

A ) ) Cibad) g k) JAN0 plad) o i ) ibal) -

ol JS A Gahall ) hiial

R=26/pgh Miywﬁwiehuﬂ#&d
R,=2x0.073/10x8x10-2=1.8x10"m

Cosa=Rtube/R R,=2X0.073/10%x4x102=3.65x10m
< L R,=2x0.07310%x2x102=7.3x10*m
Rtubea=R3 Rtube2=R2 Rtube1=R1 cosa=1: o) ) Law
i e A u U * -3
=7.3x10*m =3.65x10*m =1.8x10*m — gJS

PI=20/R 285l (4 (ousSid) Jabdal) i

P1,=2x0.073/1.8x104 =800Pa : Js¥ w syl & bl sl
P1,=2X0.073/3.65x10-4 =400Pa : ) ) B bkl Ll
P1,=2x0.073/7.3x10-4 =200Pa : il wga¥) & kil il



